Calculus I

Quiz 6

Name: M E

Explain your solution process clearly.
Write legible.
1.[3 points| Consider the function h(¢) = g(2¢9(3g(t))).
(a) Find the derivative of h in terms of g and its derivative. : :
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(b) Suppose g(0) =0 and ¢'(0) = 4, find #'(0).
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2. [3 points] Consider the function A(t) = £(t) - g(¢)/(Vt + 1).

(a) Find the derivative of h in terms of f, g, their derivatives and t.
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(b) Suppose f(1) =1, g(1) =2, f/(1) =3, ¢'(1) = 4. Find h'(1).

N )= Gt W) (2)- 125 el s

| 2* | + //i

3. [4 points] Find the derivatives of the following functions.

(a) y = z?sin(wz),

‘ ’ 2 / e & (G z,.f/‘x UL
= \/(: 2% G (Wx>+ NS (Zm)v]’ Ly (L}mm{m nte & /{,L‘ o,

(b) y:( \/3—lS:U. B '; ) ] A 1 Mo ol 770@(/ / ZL/ZQ
=y'= 1 (3-6k) (-5) d

2




